B. Calculate the fourth decile.
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Answer the following qugstions b_ased upon this study of Money spent
money spent on souvenirs at a virtual reality theme park. on souvenirs| Under $5 | $5 and over | Totals
Age
. fi la to calculate the P(Age < 22 or Age = 22
A. Use aformula (Ag g ) T = = -
P(<22 or 222) = P(<22) + P(222) 22 and older 20 20 40
Totals 25 35 60

= P2 + P&) = §; = 1.00 > 100%

B. The events in question Aare __mutually _exclusive and therefore,

the _special rule for _addition is applicable.

C. Use a formula to calculate the probability of someone being at least 22 years old and spending $5 and over.

20 800 _

P(> 22 and 2$5) =P (222) P(2$512 22) = % x 2 = 2

.333 = 33.3%

D. Question C required the _general rule for__multiplication because the events are _dependent .

E. Use Bayes' theorem to calculate the probability of someone at least 22 years old spending $5 or more.
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=.5-550%

F. Using the above chart, calculate the probability of someone | P(< $51 =222) =% =.5— 50%
at least 22 years old spending less than $5.

G. Why does your answer to question F make sense?

Use a formula to calculate the probability of tossing a coin 3 times and getting exactly 3 heads.

B. | P(H) = 50%

What is the probability of a head coming up on the fourth toss?

A. | P(Hand Hand H) =P(H)P(H)P(H) =.56x.5x.5 =.125

This answer makes sense because the answers
to questions E and F are complements.

Four customers have three branches and you will visit [According to the counting rule: MNO =4 x 3 x 2 = 24 '
the manager and assistant manager at each branch.

How many managers and assistant managers will you visit?
T78,79, and 80




